goniometria

Angoli associafi

angoli supplementari

angoli complementari

secondo quadrante

primo quadrante

sin(180° — @) = sin(a)

sin(r — a) = sin ()

sin(90° — a) = cos(a)

cos(180° — @) = — cos(a) | cos(mw — a) = — cos(a) cos(90° — a) = sin(a) cos (E - a) = sin(a)
tan(180° — @) = — tan(a) | tan(w — a) = — tan(a) tan(90° — a) = cot(a) tan (g - a) = cot(a)
cot(180° — @) = — cot(a) | cot(m — a) = — cot(a) cot(90° — a) = tan(a) cot (g - a) = tan(a)

angoli che differiscono di un angolo piatto

angoli che differiscono di un angolo retto

terzo quadrante

secondo quadrante

sin(180° + a) = — sin(a) | sin(n + a) = — sin(a) sin(90° + a) = cos(a) sin (g + a) = cos(a)
cos(180° + @) = — cos(a) | cos(mw + a) = — cos(a) cos(90° + a) = — sin(a) cos (g + a) = —sin(a)
tan(180° + a) = tan(a) tan(m + a) = tan(a) tan(90° + @) = — cot(a) tan (g + a) = — cot(a)

cot(180° + a) = cot(a)

cot(m + a) = cot(a)

cot(90° + a) = — tan(a)
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angoli esplementari

angoli la cui somma e 270°

quarto quadrante

terzo quadrante

sin(360° — a) = — sin(a)

sin(2r — a) = — sin(a)

sin(270° — ) = — cos(a)

sin (;T[ - a) = —cos(a)

cos(360° — a) = cos(a)

cos(2m — a) = cos(a)

cos(270° — a) = — sin(a)

cos Gn - a) = —sin(a)

tan(360° — a) = — tan(a)

tan(2n — a) = — tan(a)

tan(270° — a) = cot(a)

tan (;n - a) = cot(a)

cot(360° — a) = — cot(a)

cot(2m — a) = — cot(a)

cot(270° — a) = tan(a)

cot (;n - a) = tan(a)

angoli opposti

angoli che differiscono di 270°

quarto quadrante

quarto quadrante

sin(— a) = — sin(a)

sin(— a) = — sin(a)

sin(270° + «) = — cos(a)

3
sin (E” + a) = —cos(a)

cos(— a) = cos(a)

cos(— a) = cos(a)

cos(270° + a) = sin(a)

tan(— a) = — tan(a)

tan(— a) = — tan(a)

tan(270° + a) = — cot(a)

cot(— a) = — cot(a)

cot(— a) = — cot(a)

cot(270° + a) = — tan(a)

270°
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